






w
w

w
.w

oo
dl

in
es

ha
de

.c
om

  
To

ll 
Fr

ee
 1

 –
 8

00
 –

 2
60

 –
 0

61
7

4/4

BELOW DECK MOUNT 11/12/17

STEP 8

UUSSEE  TTHHEE  44  CCOOUUNNTTEERR  SSUUNNKK  BBOOLLTTSS  AANNDD  AALLLLEENN  KKEEYY  TTOO  TTIIGGHHTTEENN  TTHHEE  BBAASSEE  
PPLLAATTEE  &&  SSPPIIGGOOTT  TTOOGGEETTHHEERR..  EENNSSUURREE  TTHHEE  BBOOLLTTSS  AARREE  PPRROOPPEERRLLYY  SSEECCUURREEDD..

30
4 

m
m

11
.9

7 
"

454 mm
17.87 "

454 mm
17.87 "

80
 m

m
3.

15
 "

TUBE ATTACHMENTS

Picollo SpigotCentre Pole Tube Rope Lock Stand Pendulum SpigotPavone Spigot
4 x M10 x 20

button head screws
4 x M10 x 20

button head screws
4 x M10 x 20

button head screws
4 x M10 x 20

button head screws
4 x M10 x 20

button head screws


